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BBEAEHUE

Llenbio gaHHOro nocobus ABASETCA OpraHU3auns CaMOCTOATENbHOW
paboTbl CTyAeHTOB 3a0uUHON GOpMbl OGYUeHMA MO HaMpaBfeHWIO NOAro-
TOBKM «IKONOrMA U NPUPOAONONb30BaHMey.

HactoAwee yuyebHO-meTOpMueckoe nocobre Mno3BOAUT CTyfAeHTaMm
NPOBEPUTb 3HAHUA NEKCUKNU U TPAMMATUKK U YMeHMe n3Bnekatb nHoop-
MaLuio 13 TeKCToB. [Mocobre copepKMT NATb KOHTPOJbHBIX 3adaHuii Ans
NpPOBeAEHUA KOHTPOSA YCBOEHWA FIPAaMMATUYECKOTO MUHUMYMA U NIEKCUKNA
obuien N TeMaTUYeCKON HanpaBNeHHOCTHU.

MpofonXknTenbHOCTb Kypca obyyeHna MHOCTPaHHOMY A3bIKY B CUCTe-
Me 3a04HOro obpasoBaHuMsA, 06beM A3bIKOBOro MaTepuana 1 KonmyecTBo
ayANTOPHbBIX YacoB OnpeAenalTCA BY30M B 3aBUCMMOCTM OT 3ajay npo-
beccnoHanbHoOM NOArOTOBKU CTYAEHTOB U KOHKPETHbIX YCITOBMI y4ebHOro
3aBefieHus.

O6yuyeHMe NHOCTPaHHOMY A3bIKY Ha 3a04YHOM OTAeNeHnW npegnonara-
eT cnegyowne Gopmbl 3aHATUI:

— ayAMTOPHble YCTaHOBOYHbIE 3aHATNA, NPOBOAMMble NpenojaBaTenem
B HauaJie KaxJoro cemecTpa;

- camocTosTenbHan paboTta CTyAeHTOB C yuebHO-MeToanYecKoln nmTe-
paTypoW, pekoMeHyeMol By30M B COOTBETCTBUM C paboueit MporpaMmmon
Mo MHOCTPaHHOMY A3bIKY (CM. CMMCOK PEKOMEHAYEMOW NUTepaTypbl);

— BbINOJIHEHME MPOMEXKYTOUHbIX KOHTPOJbHbIX PaboT UK TeCTOB, KO-
NMYECTBO M TOYHbIA rpadrK KOTOPbIX OonpenensanTca y4ebHbIM MnaHOM
BY3a;

— UTOTOBbIM KOHTPOJb B GOPMe 3a4eTOB 1 SK3aMeHa MO OKOHYAHMWM
Kypca 00yuyeHnA MHOCTPAHHOMY A3bIKY.

CpOKM BbINOMHEHNA KOHTPOJIbHBIX PaboT 1 HOMEP KOHTPOJNBbHOTO 3a-
[laHUA onpefenATca npenojasBaTenemM B COOTBETCTBUM C YYeOHbIM rpa-
dukom By3a.



PA3OEN 1
OCHOBHbIE TPEBOBAHUA ANA CTYAEHTOB

Tpe6oBaHusA Ha 3aueTe

K 3aueTy JonyckaloTCs CTyAeHTbl, BbIMOHUBLUVE BeCb 06bem paboT,
npeaycMOTPEHHbIX MPOrpaMMoii By3a.

Ha 3auete npoBepstoTca cneaytoLye HaBblKM Y yMEHUA:

a) YTeHMe 1 MOHMMAHME COofepXKaHUs TeKCTa Ha aHIIMNCKOM A3bIKe,
BKJ/IOUAIOLLErO B €05 M3yUYeHHbIV HA JAaHHOM 3Tane IEKCUKO-TrpaMmaTu-
yecKumin matepwman.

Dopmbl MPOBEPKN MOHUMAHWA COfePXKaHUA TEKCTa: MUCbMEHHBbIN 1N
YCTHBbI NepeBog BCEro TeKCTa Unm ero ¢parmeHTa, OTBETbI Ha BONPOChI MO
CopepKaHmIo TEKCTA, BbIOOP COOTBETCTBYIOLLErO BapmaHTa OTBeTa U3 pAaa
NpeasioKEHHbIX BbICKa3blBaHWI, Apyrie GpOpmMbl KOHTPOJS;

6) rpammaTMyecKnii MaTepuasn NpoBepseTcs B GpopmMe KOHTPOSbHbIX
ynpa>kHeHW UIn TecToB Ha 6a3e NPopPaboTaHHOro NIEKCMUECKOTO MUHN-
MyMa.

Tpe6oBaHusA Ha 3K3aMeHe

K 3K3ameHy Mo aHrMNCKOMY A3bIKY JOMYCKalOTCA CTYAEHTbI, MOayUYmnB-
LIKe BCe 3a4eTbl 1 BbIMOSHMBLUME BeCb 00beM paboT, BKNoYas NMCbMeH-
Hble KOHTPOJIbHbIE PAabOTbI U ApYre 3afaHns B COOTBETCTBUM C FpadrKom
yuyebHOro niaHa By3a.

Ha aK3ameHe CTyaeHT JomKeH:

a) NpouYnTaTbh 1 MOHATL COAEPXKaHVE TEKCTA NO CMELMaIbHOCTU, MOSb-
3yACb CNIOBapeM.

Dopmbl NPOBEPKM MOHVMMAHUS: MUCbMEHHBIA WKW YCTHBIA MepeBof
BCEro TEKCTA UM ero ¢pparMeHTa, OTBETbI HA BOMPOCHI MO TEKCTY UK Bbl-
60p afleKBaTHOro OTBETA M3 NPEAJIOKEHHDbIX 3aaHUN 1 Ap.;

6) NpounTaTtb 6€3 CrIoBapsA TEKCT MO CrMeumnanbHOCT, CoepKaLnin 6a-
30BblIli TIEKCUYECKU MUHUMYM, 1 KPaTKO M3MI0XKWTb ero cojepkaHue Ha
pyccKoMm fA3blKe.

DK3aMeHaALMOHHbIV MaTepuas, a TakKe HOpMa 1 BPeMsA MOATOTOBKMU
nopbupaloTca nperofasaTesieM By3a B 3aBUCUMOCTM OT LIeNN 1 3agay Npo-
¢beccnoHanbHOM NOArOTOBKM CTYAEHTOB.

B maHHOM Moco6KM AaHO MATb KOHTPOMbHBIX 33aAaHWIA, pacnpeneneHve
KOTOpPbIX MO CEMECTPaM OCYLLECTBIAETCA COracHoO yuebHOMY rpaduiky By3a.

Tpe6oBaHUA K BbINOJIHEHNIO KOHTPOJIbHbIX paboT

n nx opopmMmneHune
Mocob6ue BKIOYAET NATb KOHTPOJIbHbIX PaboT. Kaxpaas 13 KOHTpOsb-
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HbIX paboT NpepanaraeTca B ABYX BapuaHTax. CTyaeHTbl, amunmnm KoTopbix
HaurHaloTCA € BYKB OT «A» 10 «K» BKJTIOUMTENBHO, BbIMOSHAIOT 1-11 BapuaHT,
oT «J1» fo «fl» — 2-1 BapmaHT. B KOHLe nocobus faH TeMaTUYeCKUin CoBapb
W CNNCOK NUTEpaTypbl.

Mpexae yem NPUCTYNUTb K BbINMOMHEHNIO KOHTPOJbHbIX paboT, cneny-
eT N3y4nTb rpaMmaTyecKmne Tembl, KOTOpble YKa3aHbl B mocobuu nepep
KaX[0 KOHTPONbHOM paboTon. TonbKo Nocsie 3Toro pekomMeHAyeTcA Bbi-
MOJTHATb KOHTPOJIbHYIO PAaboTYy.

Bce KOHTpOsbHbIE PabOTbI, NPeayCMOTPEHHbIE yYeOHbIM MIAHOM BY33,
LOJIXKHbI ObITb BbIMOJSIHEHbI B OTAENbHOWN TETPAAW WM Ha CKPEnsieHHbIX
nuctax popmata A4. Ha TutynbHOM nncte paboTbl criepyeT yKkasaTtb: da-
KynbTeT, Kypc, HoMep rpynnbl, Gamunuio, UMsA 1 OTYeCTBO, AaTy, HoMep
KOHTPOJIbHOTO 33flaHnA U BapuaHT.

[ns NofAroToBKM K BbIMOJIHEHMIO KOHTPOJIbHbIX PAaboT Mo 3afaHHbIM
rpaMmaTMyecKM TeMaM PeKOMEH[YEeTCs NCMOb30BaTh 060N YUeOHNK
Mo rpaMmaTuKe aHrMNCKOro A3blKa ANiA HeA3bIKOBbIX BY30B (CM. CMUCOK
nuTepatypbl).



PA3OEN 2
3AAAHUA ANA BbINOJIHEHUA
KOHTPOJIbHbIX PABOT

KOHTPOJIbHAA PABOTA N2 1

[na Toro yto6bl MPaBUIBHO BbIMOMHUTDL KOHTPOJbHYIO paboTy No 1,
HeoOXOAMMO 3HATb CrieAytoLLMe rpaMMaTUYECKE TEMbI:

1. Present, Past, Future Indefinite Tense (HacTosee, npowepluee v 6y-
ayliee HeonpegeneHHoe Bpems).

2. CnpseHue rnaronos to be u to have.

3. O6oporT there is/there are.

4. OCHOBHble NPensior Mecta U HanpaBneHUs.

BAPUAHT 1
1. MpouTuTe N NepeBeAnTe TEKCT B NUCbMeHHOW popme:

SCHOOLS IN GREAT BRITAIN

British boys and girls begin to go to school at the age of 5, first to in-
fant schools. Little children are divided into two groups, according to their
mental abilities.

Children leave infant school when they are 7 years old. Then they go
to junior schools. Children study at junior schools for four years. Then they
take their examinations and enter secondary school. There are two types
of secondary schools in England: grammar schools and comprehensive
schools.

Many pupils in Great Britain go to comprehensive schools. Some chil-
dren enter grammar schools. The grammar school offers a full theoretical
secondary education including foreign languages. There are also second-
ary modern schools and secondary technical schools in Great Britain.

There are many schools in Britain which are not controlled financially
by state.

They are private schools, separate for boys and girls.

2. OTBeTbTe Ha c/iegyiolle BONpochl:
1) When do British boys and girls begin to go to school?
2) Where do children go when they leave infant schools?

3. Bbi6epuTe HyXHyl0 Ppopmy rnarona to be n nepeBeguTe npeg-
JI0XKEeHNA Ha PyCCKNIA A3bIK:

1) He (is, was, will be) at the lecture yesterday.

2) The test (is, was, will be) difficult.

3) They (are, were, will be) second-year students next year.
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4. Hanuwnte npepnoXeHns B BOMPOCMTENIbHOW, a 3aTeM B
oTpuuartenbHon popme N nepeBeguTe NX Ha PYCCKUIA A3bIK:

1) They had an English lesson yesterday.

2) Students will have five exams in June.

3) This university has a distance education department.

5. MocTaBbTe rnaronbl, faHHble B cKob6Kax, B Past Indefinite Tense
(npolwepLiee HeonpepeneHHoe Bpems):

1) They (to study) many subjects last year.

2) He (to enter) the university in 1998.

3) 1(to go) to the university by bus.

6. CocTaBbTe TPU NpeAnoKeHWUA, NCNONb3yA CNoBa, AaHHble B
KOJIOHKaXx, 1 nepeBefuTe NX Ha PYCCKUIA A3bIK:
There is a college in our town
There are a university fifteen schools

7. 3anonHuTe NponycKu npeanoramm no cMbiciy:
1) All pupils study a foreign language ... school.

2) There was only a primary school ... our village.

3) They have no lectures ... Sundays.

BAPUAHT 2
1. MpouTtuTe N NnepeBeanTe TEKCT B NCbMeHHOII ¢popme:

“O” LEVEL AND “A” LEVEL EXAMINATIONS

Pupils at secondary schools in England (that is, pupils between the age
of twelve and eighteen) have two main exams to worry about. They take
the first one when they are about fifteen. It's called “O” (ordinary) level.

Many pupils take “O” level in about seven or eight different subjects.
There are a lot of subjects to choose from carpentry to ancient languages.

For a lot of jobs it's quite enough to have four or five “O” levels and usu-
ally these include English and Math.

Some pupils leave school when they are fifteen. But if they stay at
school, they go to the sixth form and start working for the second main
exam:“A” (advanced) level. It’s a difficult exam, so pupils don’t usually take
itin more than three subjects.

Three “A” levels are enough to go to university. But if they want to go
to such universities as Oxford and Cambridge they take special exams as
well. If you don’t want to go to university, you get a good job with two or
three "A” levels.

2. OTBeTbTe Ha caieaywouive Bonpocobli:
8



1) When do pupils take their“O” level exam?
2) How many “A” levels are enough to go to university?

3. Bbi6epuTe HyxHyl0 popmy rnarona to be n nepeBegute npeg-
NOXKeHNA Ha PYCCKIiA A3bIK:

1) History (is, was, will be) my favorite subject at school.

2) Private schools (are, were, will be) expensive.

3) We (are, were, will be) engineers in five years.

4, HanuwwuTe npepanoKeHUs B BONPOCUTENIbHOW, a 3aTeM B OTpU-
uaTtenbHol ¢popmMe 1 NepeBeauTe NX Ha PYCCKUI A3bIK:

1) They have secretarial courses this year.

2) This teacher has two lectures yesterday.

3) You will have three exams next term.

5. MocTaBbTe rnaronbl, faHHble B cKo6Kax, B Past Indefinite Tense
(npolwiegLuee HeonpeaeneHHoe BpeMA):

1) The course of study (to last) five years.

2) He (to graduate) from the university last year.

3) They (to take) five exams last term.

6. CocTaBbTe TpU NpeAsioKeHUsA, UCMONb3Ys CI0BA, AaHHbIE B KO-
NIOHKaX, 1 nepeBeAnTe NX Ha PYCCKUIA A3bIK:
There is many students at the lecture
There are modern equipment in our town
only one private school  inourlanguage laboratory

7. 3anonHuTe Nponycku npeanoramm no CMbicay:
1) English was difficult ... me in the first term.

2) There are three terms ... a school year.

3) Usually our lessons begin ... 9 o'clock.

KOHTPOJIbHAA PABOTA Ne 2

[ns Toro yTOGbLI NPaBUIIBHO BbIMOIHUTL KOHTPOJIbHYO PaboTy N 2, He-
06x0AMMO 3HaTb CriefyroLme rpaMmMmaTyecKme TeMbl:

1. Participle | (npuyacTre HacTosLero BpemeHn).

2. Present, Past, Future Continuous (HacTosLlee, npowepwee 1 byay-
Liee NPOAOSIKEHHOE Bpems).

3. Participle Il (npuyactue npolweawero BpemeHu).

4. Present, Past, Future Perfect (HacToswee, npowepwee n byayuiee
COBepLUEHHOE BpemA).



5. CreneHn CpaBHEHNA MEH npunaraTesnbHbIX.

BAPUAHT 1
1. MpouTtuTe N NnepeBeanTe TEKCT B NUCbMeHHOII ¢popme:

THE CITY OF WASHINGTON

The city of Washington was designed in the late eighteenth century.
Washington, the capital of the United States, is situated on the Potomac
River in the District of Columbia. Washington is not the largest city in the
United States but in the political sense it is the most important city.

Washington has one major business and that business is government.
Many people living in Washington work for the federal government. At
1600 Pennsylvania Avenue there is the White House where the President
lives and has his office.

The Capitol, with its great Hall of Representatives and the Senate, is the
highest building in Washington. There is a law against building structures
more than 90 feet high in the capital. With its beautiful buildings and its
tree-lined avenues Washington attracts a lot of visitors.

The capital has world-known art galleries, museums and monuments.
One of the most interesting museums in Washington is the National Art
and Space Museum. The museum has aircraft and spacecraft that were
important in aviation history. There are even rocks that the astronauts
brought to the Earth after their Moon landing.

2. OTBeTbTe Ha ciegyioLyie BONPoChl:
1) What is the highest building in Washington?
2) What is the most interesting museum in Washington?

3. B kakux ¢pyHKLuUAX ynoTpe6neHo npuyacrtue | B npuBegeHHbIX
HXKe npegnoxeHusx? NepeBeanTe npeanoXeHns Ha Pycckuii A3bIK:

1) The Library of Congress contains millions of books and manuscripts,
including personal papers of the US presidents.

2) Living in Washington you can meet people of almost all nationali-
ties.

3) Millions of emigrants cross the ocean, hoping to find a better life in
the USA.

4. Ha3oBuTe HOMep MpeanoXKeHus, raron-ckasyemoe KOToporo
crout Present Continuous Tense (HacTosWwee gnuTenbHOe BpemMs), v
nepesefuTe 3TO NpeAsioKeHNe Ha PYCCKNi A3bIK:

1) Many people visit the Lincoln Memorial every year.

2) They are visiting the Lincoln Memorial now.

3) We met our friends when they were visiting the Lincoln Memorial.
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5. HasoBute Homep npepnoxeHus, B Kotopom Participle Il (npu-
vacTue ll) ABnAeTcA onpefeneHnem, u nepeBeanTe 3To NpeasioxKeHne
Ha PyCCKU A3bIK:

1) The Capitol is the highest building in Washington which is known as
an American city without skyscrapers.

2) Many important events have taken place at the Lincoln Memorial.

3) Washington named after the first American President is situated on
the Potomac River.

6. HasoBuTe HOMep NpeasioKeHUs, rnarojl-ckasyemoe KOToporo
ctout B Present Perfect Tense (HacTosiLee coBeplueHHOe BpeMsA), N
nepeBefuTe 3TO NpeA/IoKeHNe Ha PYCCKIIA A3bIK:

1) Many people visited the Lincoln Memorial last year.

2) A group of tourists has just visited the Lincoln Memorial.

3) Millions of people visit the Lincoln Memorial every year.

7. Ha3oBuTe HOMep MpeasioXKeHUs, JKBUBANEHTHOro AaHHOMY
pyccKomy npepgnoKeHuio:

BalUMHITOH CTan KPYnHbIM KySbTYPHbBIM 1 HayUYHbIM LIEHTPOM.

1) Washington is a centre of culture and science.

2) Washington has become a great cultural and scientific centre.

3) Washington became the centre of science and culture in the nine-
teenth century.

8. 3anonHute nponycku npunarate/ibHbiMmu B COOTBeTCTBYIOU.IEI)'I
cTeneHun cpaBHeHMA:

1) Washington is one of (beautiful, more beautiful, the most
beautiful) capitals in the world.

2) The population of New York is (great, greater, the great-
est) than the population in Washington.

3) Pennsylvania Avenue is (long, longer, the longest) street

in Washington.

BAPUAHT 2
1. MpouTtuTe N NnepeBeanTe TEKCT B NUCbMeHHOII ¢popme:

LONDON
London is the capital city of England and of the United Kingdom. It is
situated on the river Thames. It is one of the largest cities in the world. Its
population is about 9 million people.
In the West End there are many famous museums, theatres, palaces
and parks. The British Museum is one of the most famous museums in the
world. It contains the most important collection of things from Greece and
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Egypt, including the famous Egyptian mummies. The West End includes
Trafalgar Square, Piccadilly Circus and the main shopping areas of Oxford
Street, Regent Street and Bond Street.

The Houses of Parliament built in the 19™ century, are the place where
the English Government sits. Big Ben is the name given to the clock and
the bell of the clock tower of the Houses of Parliament. The great bell
weighs thirteen and a half tons. Buckingham Palace is the home of Britain’s
King and Queens. Every day a lot of tourists come to see the ceremony of
Changing the Guard in front of Buckingham Palace.

The East End grew with the spread of industries to the east of the
City, and the growth of the port of London. It is one of those areas of
London where people from abroad have come to find work. The East
End is especially famous as the centre of the clothing industry in Lon-
don.

2. OTBeTbTe Ha cyiegyiowie BONPochbl:
1) How many people live in London?
2) What is the East End famous for?

3. B kakux ¢yHKumax ynorpebneHo Participle | (npuyactue 1) B
npuBeAeHHbIX HYXKe npeanoxeHunax? Nepesegnte npepnoKeHnsa Ha
PYCCKNI A3bIK:

1) The Houses of Parliament, standing on the left bank of the river
Thames, are not very old buildings.

2) Being situated on the river Thames, London is also a large port.

3) Allaround London there are plaques marking houses where famous
people lived.

4. HasoBuTe HOMep NpeANoXKeHusA, rnaron-ckasyemoe KOToporo
ctout B Past Continuous Tense (npolwiefwee agnutenbHoe Bpems), n
nepeBefuTe €ro Ha pyccKkuin A3bIK:

1) They went to Hyde Park last Sunday.

2) Crowds of people were listening or asking questions at the “Speak-
er's Corner” when we came.

3) They are going to visit the British Museum.

5. HasoBute Homep npepnoxeHus, B Kotopom Participle Il (npu-
vacTue ll) ABnAeTcA onpefeneHnem, n nepeBeanTe 3To NpeasioxKeHne
Ha PyCCKU A3bIK:

1) The City occupied by many banks and offices is the financial centre
of London.

2) Trafalgar Square was made to commemorate the victory of Admiral
Nelson at Trafalgar.

3) Many famous people are buried in Westminster Abbey.
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6. HasoBute HOMep nNpepnioXKeHUs, rnaron-ckasyemoe KOTOporo
ctout B Present Perfect Tense (HacTosiLlee coBepLueHHOE BpeMs), 1
nepeBeguTe 3TO NpeAoKeHNe Ha PYCCKUN A3bIK:

1) Last year | spent two weeks in London.

2) | have just come from London.

3) I'was in London two years ago.

7. Ha3oBuTe HOMep npepsnoXeHWsA, SKBUBAJIEHTHOro JaHHOMY
PYCCKOMY NnpegsioXKeHmIo:

OH TONbKO 4TO Npurexan u3 JIoHaoHa.

1) He arrived from London a few minutes ago.

2) He had arrived from London by 6 o'clock.

3) He has just arrived from London.

8. 3anonHuTe NPONYCKN NpuaaratesibHbIMN B COOTBETCTBYIOLL el
cTeneHu CpaBHeHUA:

1) Oxford Street is (popular, more popular, the most
popular) shopping centre in London.

2) TheCity is (old, older, the oldest) part of London.

3) Londoniis (large, larger, the largest) than Liverpool.

KOHTPOJIbHAA PABOTA N2 3

[ns Toro uTO6bLI NPaBUIIBHO BbIMOIHUTL KOHTPOJIbHYO PaboTy N 3, He-
06x0AMMO 3HaTb CriefyoLme rpaMmMmaTMyecKne TeMbl:

1. Passive Voice (maccmBHbIN 3an0r).

2. OyHKUUM UHGVHUTMBA.

3. CnoxHoe nognexatyee (Complex Subject) n cnoxHoe gononHeHne
(Complex Object).

4. Modal verbs and their equivalents (moganbHble rnarosnbl U Nx 3ame-
HUTENN).

5. HeonpepeneHHble MeCTOMMEHKA SOMe, any, No.

BAPUAHT 1
1. MpouTuTe N NepeBeAnTe TEKCT B NUCbMeHHOW ¢popme:

MICHAEL FARADAY
Michael Faraday, English experimental physicist, was born in 1791 in
a poor family. The boy began to work as an apprentice at a bookbinder’s
shop at an early age. One day a man entered the shop and found the boy
studying an article on electricity. The man was surprised to see a boy so in-

13



terested in such a difficult subject and gave him four tickets for the lectures
at the Royal Institutions.

The boy went to the lectures and made notes of what he heard. At the
end of the lecture he came to Sir Humphry Davy, the great English scien-
tist, and showed him his notes. Davy was surprised. Later he made Faraday
his assistant and helped him in his education.

Faraday had many important discoveries. Among his works are the
concept of the magnetic field and the magnetic“lines of force’, production
of new kinds of optical glass, and research on electrolysis.

Faraday produced the first mechanical motion by means of a perma-
nent magnet and an electric current. This is the principle upon which the
modern electric motor is based.

Faraday was very modest and he loved his work more than honours.
He refused to become President of the Royal Society and also refused to
be knighted.

2. OTBeTbTe Ha cnegyioLe Bonpocbi:
1) Which of Faraday’s discoveries do you know?
2) What was the boy interested in?

3. 3anonHnTe NMPOMNYCKN COOTBETCTBYIOLEI aKTMBHOW WAM nac-
cnBHol ¢popmMoOI rnarona u nepeBeauTe NpemIoKeHNA Ha PYCcCKuin
A3bIK:

1) The unit of electricity “farad” (was named, named) after
M. Faraday.

2) The first lighting rod (was invented, invented) by B. Frank-
lin, the outstanding American scientist.

3) At Cambridge, Newton (was read, read) with great interest
the writings of Galileo.

4. MepeBeanTe NpeANoKeHNA HA PYCCKNI A3bIK, 06paLLas BHIMa-
HUe Ha NHQUHNTUBHbIE 060POTbI:

1) Faraday is believed to be a great English physicist.

2) We consider Tsiolkovsky to be the father of astronautics.

3) Popov is known to be the inventor of radio in Russia.

5. Onpepenute pyHKUMN NHGUHNTMIBaA 1 NepeBegUTe Npeanoxe-
HUA Ha PYCCKNIA A3bIK:

1) In 1810 Faraday began to attend lectures on natural philosophy.

2) To study the nature of light and colour Newton carried out many
experiments with a prism.

3) The lecture to be delivered by a well-known scientist is devoted to
the problems of ecology.
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6. Ynotpe6uTe rnaron-ckasyemoe B 6yayuiem BpemeHU, UCNOJib-
3yA 3KBMBaNeHTbl MOAAJIbHbIX [Naronos:

1) He must check the temperature three times a day.

2) In this figure you can see a diagram of temperature changes.

3) He may use a barometer to measure the atmospheric pressure.

7. 3anonHute nponyckn HeonpepAeseHHbIMN MecToOMMeHnAMN
some, any, ho:

1) The book contained (some, any, no) diagrams.
2) Are there (some, any, no) diagrams in the book?
3) We have (some, any, no) information on this problem.

8. A) MpouTtute N NnepesBeanTe TeKCT. BbinonHuTe 3agaHna nocne
TeKcTa:

The main part of the engine is called the block. It consists of the cyl-
inders and the valves. Air and petrol go into the block by means of the
carburetor. The petrol reaches the carburetor from the petrol tank through
the action of the petrol pump.

There are two main types of petrol engines: 4-stroke and 2-stroke. All
cars and larger motorcycles are known to use 4-stroke engines. But smaller
motorbikes use 2-stroke engines. They are smaller and cheaper than
4-stroke engines.

B) OnpepenuTte GyHKUUN MHGMHUTIBA 1 NepeBeaUTe NpeasoxKe-
HUA Ha PYCCKUIA A3bIK:

1) It took me an hour to find a fault in the car.

2) The engine to be used in this truck is of a new design.

3) It's dangerous to drive in such bad weather.

B) YnoTpe6uTe rnaron-ckasyemoe B 6yayiliem BpeMeHU, UCMOb-
3yA 3KBMBaNeHTbl MOAAJIbHbIX [N1aronos:

1) He must check a fuel level in his car.

2) You can easily do this work.

3) You may find all the necessary material in the library.

N HanuwwuTte NATb BOMPOCOB K TeKCTy, HaumHatouwmxca ¢ What?
How? How many? Where? Why?

BAPUAHT 2
1. MpouTtuTe N NnepeBeanTe TEKCT B NUCbMeHHOII ¢popme:

ISAAK NEWTON
Isaak Newton was born in 1642 in the family of a poor farmer. The boy

15



began his first scientific experiments at school.

While studying at Cambridge University, Newton formulated the bino-
mial theorem. In 1662 Cambridge was closed because of the plague and
Newton returned to his native village. For the next two years he devoted
himself to scientific experimentation.

Newton’s great discovery was the law of decomposition of light. The
scientist proved that the white light of the sun is composed of rays of light
of all colours of the rainbow. He also discovered the Law of Universal Gravi-
tation which states that “every particle of matter is attracted by every other
particle of matter with a force inversely proportional to the square of their
distance apart”.

Newton applied the principle of gravitation to prove that the power
which guides the moon around the earth and the planets around the sun
is the force of gravity. Another application of the law of universal gravita-
tion was Newton'’s exploration of the tides.

Newton was highly honoured by his countrymen and in 1703 he was
elected President of the Royal Society. Sir Isaak Newton died in 1727 and
was buried in Westminster Abbey.

2. OTBeTbTe Ha cfiegyiolle BONpochl:
1) What laws did Newton discover?
2) Canyou formulate the Law of Universal Gravitation?

3.3anonHNTe NPOMNYCKN COOTBETCTBYIOL el aKTVBHO U NaccuB-
Holl popmoii rnarona n nepeBeguTe NpPeAsIoKeHNA Ha PYCCKUI A3bIK:

1) Newton (was performed, performed) many experiments
with light.

2) When Cambridge (was closed, closed) in 1662, Newton
returned to his native village.

3) Mass (is measured, measured) in grams or kilograms.

4. MepeBepunTe NpeanoXKeHsl Ha PYCCKUiA A3bIK, 06pallan BHUMA-
Hue Ha NHQUHNTUBHbIE 060pPOTbI:

1) My parents want me to become a chemist.

2) Heis believed to be a very talented person.

3) Newton is considered to be one of the greatest English scientists.

5. Onpepenute pyHKUN NHGUHNTMBaA 1 NepeBeUTe Npeanoxe-
HUA Ha PYCCKNIA A3bIK:

1) To carry out this experiment will take you a lot of time.

2) The experiment to be carried out in our laboratory is very important.

3) He forgot to register the results of the experiment.

6. MocTaBbTe rnaron-ckasyemoe npegnoxkeHus B Past Indefinite
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Tense (npolweplwee HeonpeaeneHHoe BpemMa), ynotpebnas moganb-
Hble rnarosbl can, may, must vl UX SKBMBANEHTbI:

1) He must work hard to finish his experiment.

2) | can devote myself to scientific work.

3) You may repeat your experiment.

7. 3anonHute nponyckn HeonpepAeseHHbIMN MecToOMMeHnAMN
some, any, ho:

1) The Metric System has (some, any, no) advantages over the
English System.

2) Do you remember (some, any, no) facts from Newton’s bi-
ography?

3) The young engineer had (some, any, no) experience in
such work.

8. A) Mpoutnte N NnepeBeguTe TeKCT. BbinonHuTe 3agaHna nocne
TeKcTa.

The two most common types of engines are the petrol engine and the
diesel engine. Petrol engine are lighter and smaller than diesel engines.
That makes them cheaper, and that is why most cars and motorbikes use
petrol engines.

On the other hand, diesel engines use less fuel and last longer than pet-
rol engines. They are also safer and less dangerous. They are widely used in
large vehicles such as trucks and trains.

B) 3anonHuTe NponycKn COOTBETCTBYIOLLE MO CMbIC/TY aKTUBHO
nnn naccuBHon ¢opmMoil rnarona M nepeBeauTe NpPepsIoKEHUA Ha
PYCCKNI A3bIK:

1) The engine (cooled, is cooled) by water from the radiator.
2) Most cars (use, are used) petrol engines.
3) The electricity (stored, is stored) in the battery.

B) MepeBegute npegnoXKeHns Ha PyCcCKUn A3bIK, o6paljas BHU-
MaHue Ha VTHGUHUTUBHbIE 060pPOTbI:

1) Rudolf Diesel is known to be the inventor of the diesel engine.

2) We expect them to buy a new car.

3) This motor car is considered to be safe.

I CocTaBbTe TpU cneuyuanbHbIX U TPU O6LMX BONPOCA K TEKCTY.

p,) BoinuwnTe n3 TekcTa Bce npunaraTtesibHbie B cpaBan'eanoﬁl n
I'IpeBOCXOAHOﬁI cTeneHn n nepesegnTe UX Ha pYCCKIIII‘I'I A3bIK.
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KOHTPOJIbHAA PABOTA N2 4
[ns Toro uTo6bl NPaBUIILHO BbINOAHUTL KOHTPOMbHYI0 paboTy N2 4, He-
06xofMMmo 3HaTb Cregylolme rpaMmaTyecKrie Tembl:
1. Conditional Sentences (ycnoBHble NpeasioxXeHns).
2. Sequence of Tenses (cornacoBaHvie BpeMeH).
3. Gerund (repyHgwui).

BAPUAHT 1
1. MpouTuTe N NepeBeAnTe TEKCT B NUCbMEHHOW popme:

CANADA

Canada occupies a great part of the North American Continent. The
area is about 9 million square kilometers and it is the second largest coun-
try in the world. Most of Northern Canada has subarctic and arctic climate.
Long cold winters last 8-11 months and summers are very short. Butin the
South the climate is temperate.

There are many lakes in Canada. The biggest of them are the Great
Lakes which are on the US-Canada border. Niagara Falls attract a lot of
tourists from all over the world.

Canada is a highly developed industrial and agricultural country. It is
a world leader in the production of nickel, asbestos and other minerals.
Canada has an ideal climate for growing wheat and barley. It is among the
world’s leading wheat producers and is second in the export of wheat.

The population of Canada is 24 million people. English and French are
the official languages of Canada and have equal status and equal rights.
Canada is a federation of ten provinces and two northern territories.

Ottawa is the capital of Canada with the population of 800,000 people.

2. OTBeTbTe Ha cyiegyiowie BONPochbl:
1) What is the area of Canada?
2) What are the official languages in Canada?

3. Hampwute repyHAnin n nepeseanTe NpepioKeHNA Ha PyCcCKuin
A3bIK:

1) Visiting Niagara Falls made a great impression on us.

2) We heard of his planning a travel to Canada.

3) Many farmers in Canada are engaged in growing wheat.

4. Bbi6epuTteTpe6Gyemyio no cmbiciy popmMy rnarosannepesegure
npeanoXeHnsa Ha PyCCKNi A3bIK:

1) If the weather is fine, we (will go, would go) to Niagara
Falls.
2) If I went to Canada, | (will visit, would visit) its numerous

National Parks.
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3) If he (knew, had known) about your plans, he would have
joined you.

5. MepeBeguTe NpeanoxKeHNsA Ha PYCCKUI A3bIK, 06paLyas BHUMa-
HUe Ha cornacoBaHue BpeMeH:

1) The student said that he had visited Canada two month before.

2) The teacher asked the students what Canada’s political status was.

3) Everyone knew that Canada had two official languages.

6. MepeBeaunTe NpeasoKeHNA Ha PYCCKUN A3bIK, 06pallas BHUMa-
Hue Ha NpuYacTHble 060pOoThI:

1) Standing on the shore of Lake Ontario, Toronto is the largest city in
Canada.

2) Toronto has a lot of fine modern buildings, City Hall being the most
famous.

3) At night the Parliament Building is illuminated by thousands of
lights, creating a view of a fairy-tale palace.

7. A) MpoutnTte N nepeseaunTe TeKCT. BbinonHute 3agaHna, KoTo-
pble cneayioT 3a HAM:

Sometimes it is more convenient to use compressed oxygen. Itis stored
in special insulated tanks and delivered in pipes to the work sites.

Oxygen is used in breathing apparatus. Airmen and mountain climbers,
miners at rescue teams, firemen entering smoke-filled buildings, patients
at hospitals need breathing apparatus badly.

b) MepeBeaunTe npegnoXxeHus, obpallas BHUMaHMe Ha COrnaco-
BaHVe BpeMeH:

1) The teacher asked the students how oxygen was obtained in industry.

2) He said that he had finished the experiment by two o'clock.

3) He asked me if  would go to the scientific conference.

B) MepeBegute npennoXKeHns Ha PyCcCKUn A3bIK, o6paLjas BHU-
MaHue Ha NpuYyacTuN:

1) The air surrounding the earth is a mixture of well-known gases.

2) Mendeleev arranged the elements in order of their atomic weight
starting from the lowest.

3) The elements in the Periodic System fall into seven periods, the first
period containing one element only — hydrogen.

) BcraBbTe npepnoru, Tpebyemble nNo cMbIcay:

1) Oxygen was discovered ... 1774 ... Joseph Priestly.
2) He obtained it ... heating mercuric oxide.

3) Itsmells ... chlorine.
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4) Oxygen is used to produce iron ... ore ... a blast furnace.
5) It gives aflame ... a temperature ... about 3,000 C.

6) Oxygen is also used ... cutting and welding metal sections.
7) Itis delivered ... pipes ... the work site.

8) Patients ... hospitals need breathing apparatus.

[) OrBeTbTe Ha cnegylowWwme BONPOCHI:

1) Where is compressed oxygen stored?

2) In what apparatus is oxygen used?

3) Why do firemen need breathing apparatus?
4) Who else needs breathing apparatus?

BAPUAHT 2
1. MpouTuTe N nepeBeanTe TEKCT:

GREAT BRITAIN

The official name of Great Britain is the United Kingdom of Great Britain
and Northern Ireland. It is made up of England, Scotland, Wales and North-
ern Ireland.

Great Britain has a maritime climate. British winters are mild. Summers
are cold and rainy. Fogs often occur in autumn and in winter.

The population of the UK is nearly 60 million people. Most people live
in cities and towns. Great Britain is a country of numerous cities.

The United Kingdom is one of the world’s most industrialized countries.
Itis a great producer of coal and steel. UK has shipbuilding, machine-build-
ing, automobile industry, chemicals, textiles and others. The industries are
concentrated in the central part of the country.

Agriculture is an important sector in the economy of the country. The
British grow wheat, fruit, vegetables and oats.

There are many universities, colleges, libraries, museums and theatres
in the country. The most famous universities are Cambridge University and
Oxford University.

The UK is a constitutional monarchy. The monarch has very little power
and can only reign with the support of Parliament. Parliament consists of
the House of Commons and the House of Lords.

2. OTBeTbTe Ha criegyiolle BONpochl:
1) What is the population of Great Britain?
2) What does the British Parliament consist of?

3. Hangute repyHanin n nepeseanTe NpesioKeHNA Ha pyCccKui
A3bIK:
1) We did not know of their going to Great Britain.
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2) My friend was proud of being a student of Oxford University.
3) After graduating from university he got an interesting job in Glas-
gow.

4. Bbibepute Tpebyemyio <¢opmy rnarona u nepesegute
npeanoXKeHUs Ha PYCCKUI A3bIK:

1) IflgotoLondon | (will call, would call) you up.

2) If he had money he (would go, would have gone) to Great
Britain.

3) Ifhe (were not busy, had not been busy), he would have

attended the conference.

5. MepeBegute npepnoXeHUA Ha PYCCKUiA A3bIK, o6pauias
BHMMaHVe Ha corlacoBaHMe BPeMeH:

1) I knew that she had gone to Great Britain two weeks before.

2) We asked her what places of interest she would visit in London.

3) She answered that she was a student of London University.

6. MepeBeauTe npeAnoOXKeHWA Ha PYCCKUA A3bIK, ob6paujas
BHMMaHVe Ha NpuYacTHbie 060poTbI:

1) Being a highly developed industrial country Great Britain exports
motor-cars, aircraft, electric apparatus and other items.

2) There are about 1000 monuments inside the Westminster Abbey,
commemorating the lives of famous poets and statesmen.

3) There are many rivers in Great Britain, the Severn being the longest
in the country.

7. A) Mpoutnte M nepeBeguTe TeKCT. BbinonHuTe 3agaHus,
KOTopble c/iefyioT 3a HUM:

Oxygen is the most abundant of 104 elements. It was discovered in
1774 by Joseph Priestly, who obtained it by heating mercuric oxide. In in-
dustry oxygen is obtained by fractional distillation of liquid air.

Oxygen is a colourless gas. It smells slightly of chlorine. It is denser than
air and soluble in water. Oxygen doesn’t burn but supports burning.

Oxygen is used to produce iron from ore in a blast-furnace and convert
iron into steel. It produces a higher furnace temperature and gives a flame
with a temperature of about 3,000 degrees. This flame melts steel easily.
Oxygen is also used for cutting and welding metal sections.

b) Hampute repyHauin n nepesepuTte npepsioKeHUA Ha PyccKui
A3bIK:

1) Oxygen can form oxides by combining with metals.

2) The students began making the experiments with oxygen.

3) There are different ways of obtaining oxygen.
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B) Bbi6epuTe npaBunbHylo ¢popmy rnarona u nepeseaunTte npep-
NOXeHUA Ha PYCCKMIA A3bIK:

1) If you lived in London you (will drive, would drive) your
car on the left-hand side.

2) If I had time last week | (would carry out, would have car-
ried out) the experiment.

3) They (will do, would do) it, if they have the necessary ma-
terial.

N Hanuwurte wWecTb BOMPOCOB K TEKCTY, KOTOpPble HauMHalOTCA
cnepyowmmu cnosamu: When? How? Is...? Does...? What...for?

KOHTPOJIbHAA PABOTA N2 5

BAPUAHT 1
1. HampuTte B npaBoi1 KOJIOHKE PyCCKME 3KBUBaNE€HTbl aHMMUNACKNX
CJIOB 1 C/IOBOCOYETaHUM ¢

1. pollution a. oTXoAbl

2. up-to-date b. 3a6onesatb

3. carry (goods) C. OMacHbIN

4. wastes d. kncnorta

5. contaminate €. BNNATb, BO3[eNCTBOBaTb
6. get sick f. 3arpasHeHune

7. destroy g. paspyLatb

8. dangerous h. 6bITb 03a60UYEHHbBIM

9. acid i. nepeBO31Tb(TOBapHbI)

10. to be concerned about j. 3arpasHATL

11. affect k. coBpemeHHbIl

12. dirty . rpA3HbIN, 3arpA3HEHHbIN
13. result (in) m. npmBecTu (K pe3synbraTty)

2. I'IepeBeAMTe Ha pyCCKMﬁI A3bIK BCTpeyalujnecHa B TeKCTe NHTep-
HalOHaJIbHbI€e CJioBa:

problem, machine, technology, comfortable, result, ozone, activity,
planet, balance, catastrophe, atmosphere.

3. MpoutnTe TEKCT M NepeBefuTe €ro Ha PYCCKU A3bIK B MUCH-
MeHHon ¢popme:

POLLUTION
People have designed and produced up-to-date machines and tech-
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nologies to make their life easier and more comfortable. But all these ac-
tivities results in air and water pollution.

One of the most important problems is the oceans. A lot of ships cross-
ing the oceans and seas, especially those that carry oil, put their wastes
into water, and the water becomes dirty. As a result many birds and fish die
because of polluted water, others are getting contaminated and people
may get sick from eating them.

The second problem is air pollution. Cars and plants pollute the atmos-
phere with their wastes. They destroy the ozone layer which protects us
from the dangerous light of the Sun. They also destroy forests which are
dying from acid rains.

Now people begin to realize the danger of their activities. People are
concerned about the air and the water used by everyone, they are also
concerned about the future of the planet because they understand that
these activities affect the balance of nature.

In order to make our life not only easier but better and healthier we must
learn to protect the water, the air and the earth from pollution. Our planet
belongs to our children and if we want our children to live in a healthier
world we must do everything to protect them from the catastrophe.

4. HanpuTte cooTBETCTBYIOLYME OTBETbI HAa BOMPOCHI U HanuwWuTe
1X B TOll MOCneAoBaTeIbHOCTY, B KOTOPOI1 3aZilaHbl BONPOCbI:

Bonpochbr:

1. What do people’s activities result in?

2. What happens to birds, animals, fish and people because of polluted
water?

3. What do wastes of cars and plants destroy?

4. What must we do if we want our children to live in a healthier
world?

OTtBeTbl:

a. Many birds, animals and fish die of polluted water. Others are getting
contaminated and people may get sick from eating them.

b. We must learn to protect the water, the air and the earth from the
pollution.

c. Air and water pollution.

d. The ozone layer which protects us from the sun.

5. 3aKOHuYUTe NpeAsIoXKeHUs, BbiIGpaB COOTBETCTBYIOWMI BapVAHT
OKOHYaHMA:

1. People have produced new machines to make their life easier...

a) but all these activities did not result in air and water pollution.

b) but all these activities result in water and air pollution.

¢) but all these activities do not affect the balance of nature.
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2. Alot of ships crossing the oceans, especially those that carry oil, put
their wastes into water. As a result...
a) they destroy the ozone layer.

b) they destroy forests which are dying from acid rains.
¢) they pollute water and many fish and birds die.

3. People are concerned about the air and the water used by everyone
because they understand that their activities...

a) improve and make their life healthier.

b) improve machines and do not affect the balance of nature.

¢) resultin air and water pollution and affect the balance of nature.

4. The wastes of cars and plants pollute the atmosphere...
a) but do not destroy the ozone layer and forests.
b) and destroy the ozone layer and forests which are dying from acid

rains.

¢) but do not affect the balance of nature.

BAPUAHT 2
1. HailauTe B npaBoil KOJIOHKE pyccKue 3KBMBaNeHTbl aHMMNNCKNX

CNIOB 1 C/IOBOCOYETaHUIA:

1. environmental protection

2. to absorb (smth)
3.to supply the economy with

resources
4. to pollute

5. to reduce the resources of

forests )
6. to suffer an environmental

problem
7. water shortage

8. damage to wildlife

9. timber
10. an unlimited source of re-

sources
11. wastes

12.to damage the resources

a. obecrneumBaTb SKOHOMUKY
pecypcamu
b. cokpalLaTb necHble pecypcbl

C. 3alLMTa OKpY»KatoLLelt cpebl

d. Hemcyepnaemblin ICTOUHUK
pecypcos

e. nornouatb

f. 3arpsAsHATL

g. CTpoeBou nec
h. HexBaTKa BoAbI
i. oTxoAbl

j. HaHecTn ywepb pecypcam

k. Bpen oukomn npupope
l. ctankmBaTbCa ¢ npobnemor
oKpy»KatoLLen cpepbl

2. HQPEBEAMTE Ha pyCCKI/II7I A3bIK BCTpeyawwmeca B TeKCTe

NWHTePHalnOHaJIbHble CJioBa:



limit, atmosphere, economy, result, natural, gas, ozone, problem, fact,
territory, economic, protect.

3. Mpoutnte TEKCT N NepeBegnTe €ro Ha PYCCKUin A3bIK B MUCb-
MeHHon ¢popme:

ENVIRONMENTAL PROTECTION

People have thought that the environment is an unlimited source of
resources, that the atmosphere, forests, rivers and seas are capable of ab-
sorbing all wastes. The environment supplies the economy of any country
with its resources such as timber, minerals and oil. As a result, natural re-
sources are becoming reduced, air and water are polluted, and the envi-
ronment is unable to absorb all its wastes.

For example, waste gases cause acid rains; this leads to forest damage
and therefore reduces the resources of forests. Another problem is water
shortage resulting from unlimited use of it. The third one is destroying the
ozone layer of the Earth through pollution from plants and cars. One more
problem is damage to wildlife. It is possible that some kinds of animals can
disappear due to people’s activities.

Some territories in Russia are also suffering environmental problems.
Many of these problems have been caused by economic activities. Many
forests in the north of European Russia and the Far East are under threat.

If we want to live in a healthier world we must learn to use the environ-
ment carefully and protect it from damage caused by our activities. Other-
wise very soon we will have no world to live in.

4. Hanpurte coOTBETCTBYIOLME OTBETbI HA BONPOCHI 1 HanuwinTe
X B TO NOCNief4oBaTeNIbHOCTY, B KOTOPOI 3aZaHbl BONPOCHI:

Bonpocbi:

1. What leads to forest damage?

2. What destroys the ozone layer of the Earth?

3. Why can many kinds of animals disappear?

4. What environmental problems is Russia suffering?

5. What is it necessary to do in order to live in a healthier world?

OTBeTbI:

a. Problems caused by economic activities.

b. Acid rains.

¢. To use the environment carefully and protect it from damage.

d. As aresult of people’s activities.

e. Wastes of plants and cars.

5. 3aKoHuUuUTe NpepnoKeHUsA, BbiIGpaB COOTBETCTBYIOWMNI Bapu-
QHT OKOHYaHUA:
1. The environment supplies the economy of the country with its re-
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sources but air and water are polluted, and the environment is...
a) unable to absorb all its wastes.
b) able to absorb all its wastes.
c) able to affect the balance of nature.

2. Waste gases cause acid rains and therefore...
a) reduce the resources of forests.

b) do not reduce the resources of forests.

c) protect the resources of forests.

3. Plants and cars wastes pollute the air...

a) but do not destroy the ozone layer of the Earth.
b) and destroy the ozone layer of the Earth.

¢) but do not affect the nature.

4. People must learn to use the environment carefully and...
a) affect the balance of nature.

b) make their life easier.

) protect it from damages caused by their activities.
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TEMATUYECKUIA CJIOBAPD

absorb - nornowatb

acid — kncnorta

acid rains — KUCNOTHbIE JOXAN

activities — eATeNbHOCTb, aKTUBHOCTb
additional — gononHuTenbHbIN

affect - BNATb, oKa3blBaTb BO3AencTBME (Ha)
be concerned (about) — 6ecnokounTtbca (0), ObiTb 03a60UYEHHbIM
be linked (to) — 6bITb cBA3aHHbIM (C)
belong (to) - npuHagnexatb (K)
biodiversity - briopasHoobpasue

capable - cnocob6HbIN

carefully — octopoxHo

chemical wastes — xummnyeckme otTxopgbl
coal - yronb

consume goods — NoTpe6/ATb TOBapbl
contaminate — 3arps3HATb, 3apakaTb
contamination — 3arpA3HeHue, 3apaxeHne
convert - NpeBpaLlaTb

damage to wildlife — Bpeps (ywwep6) gukown npupoae
danger(-ous) — onacHoOCTb (OnacHbIi)
deforestation — Bbipy6Ka feca

depletion — uctoweHue, onycroweHune
desertification — o6pa3oBaHuie NyCTbiHb
destroy - pa3pywatb

destruction — pa3pyLieHue, onycTolleHne
dirty — rpAsHbIN

disappear - ucuesatb

disease — 6onesHb

dissipation — paccenBaHue

eliminate — yctpaHaTb

enterprise — npegnpusTne

eruption — n3BepxeHue (BynkaHa)
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exhaust fumes — BbIxJIOMNHbIe rasbl

existence — cyLlecTBOBaHue

face the problem - ctanknsatbca ¢ npobnemoi
flooding - 3aTonneHue, HaBogHEHNE

fog - TymaH

fossil fluid — opraHnyeckoe Tonnneo

get contaminated - CTaHOBUTbCA 3arpPA3HEHHbIM
get sick — 3abonetb

harmful - BpegHbIn

imbalance - HapywaTb 6anaHc

industrial enterprises — npomMblWwneHHble NpeanpPUATAS
inexhaustible - HencToWMMBbIT

layer — cnon

lead losses — BecTu, NpnBOANUTD

magazine - (Hay4YHO-NONysAPHbIN) XypHan

make life easier — obneruaTb Xu13Hb

make life healthier — genatb Xun3Hb 60nee 3gopoBo
manufacturer — NPOMBbILLNEHHUK

mix — cMeLllnBaTb

mixture — cmecb

natural resources — NpypoAHble pecypchbl
non-renewable — HeBO306HOBNAEMbIN

non-waste technology — 6e30TxofHble TexHONornu
oil - HepTb

plant — 3aBop

pollutant — 3arps3HstoLLee BELLECTBO

pollute — 3arpsasHaTb

polluted - 3arpA3HeHHbIN

pollution - 3arpasHeHune

preservation of environment — coxpaHeHMe OKpy»atoLLen cpeabl
production — npor3BoacTBO

profitable — nprGbINbHLIN, NONE3HbIN

protect - 3awWwnLaTb

purified — ounLEeHHbI
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put into water — copacbiBaTb B BOZY

raw materials — cblpbe

realize — oco3HaBaTb, NOHMMaTb

reduce - coKpallaTb, CHMXaTb

reduce the resources of forests — cokpallatb necHble pecypcsbl

renew — BOCCTaHaB/MBaTb, MOMOJHATb

renewable — BocnofiHeHHbI, BO3OOHOBIEHHbIN

replenish — BocnonHaTb pecypcsl

sequence — pe3ynbTaT, NoCNeACTBYE

smog — cMor

smoke — bIm

substance - BewlecTBO

supply the economy with resources — obecneurBatb SKOHOMUKY pe-
cypcamu

the balance of nature - 6anaHc B npupoae

timber - cTpoeBoi nec

unable — HecnocobHbIN

uninhabitable — HenpurogHbIN AN XN3HK

utilize - NnprMeHATb, NCNONb30BaTb

up-to-date — coBpeMeHHbI

wastes — oTxoAbl

water shortage — HexBaTKa Bofbl
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